2 /EARL’S,

'psﬁfaﬂumvciﬂ UMBING

ey

ADAPTER < AN >

ONIILIAYR&F YR

| VAN

ANYAZ (1897 | & B | NMAEE Garme)
S 2 592403 ¥700 (¥770)
4 2 592404 ¥1,400(¥1,540)
6 2 592406 ¥800 (¥880)
8 1 992408 ¥800 (¥880)
10 1 992410 ¥900 (¥990)
12 1 992412 ¥1,300(¥1,430)
16 1 992416 ¥2,400(¥2,640)

BANFX-ANFZX XL —F

ANYAZ m & AR B mg)
8 983203 ¥1,300 (¥1,430)
4 983204 ¥1,900 (¥2,090)
6 983206 ¥1,300 (¥1,430)
8 983208 ¥1,400 (¥1,540)
10 983210 ¥3,800 (¥4,180)
12 983212 ¥5,000 (¥5,500)
16 983216 ¥9,700(¥10,670)

M AN 7+ X -AN # X 45°

ANH X & AR B mg)
3 983703 ¥3,400 (¥3,740)
4 983704 ¥3,400 (¥3,740)
6 983706 ¥3,700 (¥4,070)
8 983708 ¥5100 (¥5610)
10 983710 ¥6,500 (¥7,150)
12 983712 ¥9,900(¥10,890)

Hl AN #+ X -AN # X 90°

ANH X & RS (Bt
3 983303 ¥2,900 (¥3,190)
4 983304 ¥2,900 (¥3,190)
6 983306 ¥3,600 (¥3,960)
8 983308 ¥4,900 (¥5,390)
10 983310 ¥6,500 (¥7,150)
12 983312 ¥10,000 (11,000
16 983316 ¥14,800(¥16,280)

W34 ANFZX-AN F X -AN # X

ANHAX m AR Bt
3 983403 ¥5,800 (¥6,380)
4 983404 ¥3,600 (¥3,960)
6 983406 ¥5,600 (¥6,160)
8 983408 ¥6,800 (¥7.480)
10 983410 ¥7,000 (¥7.700)
12 983412 ¥11,000 (¥12,100)

W37 x4 ANFX-AN F X -AN # X

ANHAZ m & AR B mg)
3 980403 ¥4,000 (¥4,400)
4 980404 ¥4,000(¥4,400)
6 980406 ¥4,200(¥4,620)
8 980408 ¥6,500 (¥7,150)

o=

MRTMAAEIZ2022F9ARENHDTY

SR AR D= - K fiA& D E

25| X R & m

OANFa1—-TIUFK

MAIL ORDER  KINOKUNI TEL 0736-62-6355 FAX 0736-62-8122,
httos../www.kinokun-e.com

Fa—TJFy b Fa-TRU-T

[

—

FIWVINAT (Fa—7)
(P286)

@ AN Z Dt

BF2—7Fv b
AN | Fa—THAX |, . o
g o V| @ &) TRES
3 |3/16| 4.8 | 2 |581803| ¥700 (¥770)
4 11/4| 6.4 | 2 |581804| ¥700 (¥770)
6 |5/16| 7.9 | 2 |581806| ¥700 (¥770)
6 |3/8| 95| 2 |581806| ¥700 (¥770)
8 |1/2 127 1 |981808| ¥600 (¥660)
10| 5/8 |15.9| 1 |981810| ¥800 (¥880)
16| 1 |254| 1 |981816| ¥1,000 (¥1,100)
BF2—TRA)=T
AN | Fa—TH1X |, . o
wloEl o | % ®| TRES
3 |3/16| 4.8 | 2 |581903| ¥600(¥660)
4 11/4| 6.4 | 2 |581904| ¥600(¥660)
6 |5/16| 79 | 2 R581956|- & F
6 |3/8| 95| 2 |581906| ¥600(¥660)
8 [1/2]127] 1 [981908| ¥500(r550)
10| 5/8 [15.9] 1 |981910| ¥700(¥770)
16| 1 [254] 1 981916 ¥900(x990)
¥%R58195613. P109&EREEVE T,
*FR.Fa—-TFyF&Fa-—TRU-—TOHEEDE
X% etc.
ZOHBREILTHRICT RIS
FATEFDETT, (P3635H)
BI2FXxvv7 (AN XX)
ANYAZ 1897 | @& & | AR @ams)
3 2 592903 ¥1,200 (¥1,320)
4 2 592904 ¥1,200 (¥1,320)
6 2 592906 ¥1,300 (¥1,430)
8 1 992908 ¥1,300 (¥1,430)
10 1 992910 ¥1,600 (¥1,760)
12 1 992912 ¥2200 (¥2,420)
16 1 992916 ¥2,700 (¥2,970)
20 1 992920 | ¥19,900(¥21,890)
BMI>K7Z%5 (AN #*R)
ANBAZ |18y | & B | ANMER Gurms)
3 2 580603 ¥900 (x¥990)
4 2 580604 ¥900 (¥990)
6 2 580606 ¥1,200 (¥1,320)
8 1 980608 ¥900 (¥990)
10 1 980610 ¥1,100 (¥1,210)
12 1 980612 ¥1,600 (¥1,760)
16 1 980616 ¥2 400 (¥2,640)
20 1 980620 ¥7,900 (¥8,690)
BMIKTS5(75294847)
ANYAZ 1897 | & & | NMHEE @armms)
3 2 581403 ¥1,600(¥1,760)
4 2 581404 ¥2,000(¥2,200)
6 2 581406 ¥2,000(¥2,200)
8 1 981408 ¥1,100(¢1,210)
10 1 981410 ¥1,600(¥1,760)
12 1 981412 ¥2,800(¥3,080)
16 1 981416 ¥3,600 (¥3,960)
¥ 0-U It

T

PRIFEPHENETDT, JTHELZEW,




EArRL'S,

PERFORMANCE PLUMBING

MAIL ORDER - KINOKUN! TEL 0736-62-6355 FAX 0736-628 /

)
e
)
%‘-

ADAPTER < AN >

Q@ANFX-ZAML—F2Y @BETHETA— (FIVIH)
WAX247 H AN *+ X
W soprz | @ m | ASERE |70 00 B ANHAX % AR (Biin i)
H3 o) | |- 8 3 997103 ¥1,200(¥1,320)
M8x1.25 |991959 |¥2,3000x2530)| O | — | — 4 997104 ¥1,200(¥1,320)
M10x1.0 |991961 [¥2,30002530) | O | — | — 6 997106 ¥1,200(¥1,320)
M10X1.25 | 991962 |¥2,30042530)| O | — | — 180 gg;}?g i}gggg;ggi
991939 M10X1.5 | 991963 ¥2,30002530) O | — | — 12 997112 ¥3.200(3,520)
M12x1.0 |991964 |¥2,300x2530)| O | — | — 16 997116 ¥4.200(4.620)
M12x1.25 |991965 ¥2300+25%0)| O | — | — 20 997120 ¥5,500 (¥6.050)
4[M12x1.5 991966 |¥2,300(+2530)| O | — | —
M14x1.25 [991967 | ¥2,300(+2530)| O | — | — BMANXZ (Tyov—2—LEAL47)
M14X1.5 |991968 |¥2,3000+2530)| O | — | — ANHAX m & AR (B mig)
M16x1.5 |991938|¥2,300%2530| O] — | — 3 987103 ¥1,900(¥2,090)
M18x1.5 | 991939 |¥2,300%25%0) | O | — | — 4 987104 ¥3,200(+3,520)
3/4°-16 991936 [¥3.00003300 | — | O | = 6 987106 ¥1,900(¥2,090)
. ' ' 8 087108 ¥3,200(¥3520)
7/8"-14 991937 [¥3,0000x3300| — | O] — 10 987110 ¥2.900(43.190)
M10x1.0 991953 |¥2,300¢r25%0)| O | — | — 12 987112 ¥4,000 (+4,400)
M10X1.25 |991971 |¥2,300(+2530)| O | — | — 16 987116 ¥7,600(¥8,360)
M10X1.5 991972 |¥2,300(+2530)| O | — | — B NPT £ X
M12x1.0 |991973|¥2,300%2530) | O | — | — NPT =% P AT —
M12x1.25 | 991945 |¥2,300x2530)| O | — | — 78 996701 ¥1,000(¥1.100)
991979 M12x1.5 | 991944 |¥2,30042530)| O | — | — 1/4 996702 ¥1,000(¥1,100)
M14x1.5 | 991977 |¥2,3000x2530) | O | — | — 3/8 996703 ¥1,600(¥1,760)
M16x1.5 |991978|¥2,300x2530)| O | — | — 1/2 996704 ¥3,100(¥3,410)
M18x1.5 |991979|¥2,300x2530)| O | — | — 3/4 996706 ¥4,100(+4,510)
M20x1.5 [991980 |¥2,300(¥2530)| O | — | — .
M22x1.5 991974 |¥280003080| O | — | — | @BETH T 42— (RF—ILHh)
M24x1.5 |991975|¥2,800x3080)| O | — | — H AN # X
6 |M26X1.5 |991940 |¥2,800(x3080)| O | — | — ANHAZ K AR REAE (At
5/8"-20 991941 [¥3,500(¥3850)| O | — | — 3 967103 ¥1,200(¥1,320)
9/16"-24 991942 |¥3,6000x3960)| O | — | — 4 967104 ¥1,200(¥1,320)
1/2-20(F%.7)| 991946 |¥2,000043.1%0 | — | — | O E 967106 ¥1,200(+1,320
5/8-18(/727)| 991947 | ¥2,300(¢2530) | — | — | O 8 967108 ¥1,600(+1,760)
7/8'20 | 991949 |¥3500v3850)| O | — | — it 967110 ¥1,900(+2090)
e : ' 12 967112 ¥3,200(¥3,520)
11/16-18(]/’7‘7) 991950 | ¥2,800(¥3,080) | — | — O 16 967116 ¥4,200(¥4,620)
1"-20 991952 | ¥3,500(¥3,850) O|l—1|-— 20 967120 ¥5,500(¥6,050)
3/4"-16 985068 |¥3,000(¥3300)| — | O | — HAN AR (Tyov—S—La47)
7/16"-2 (¥3,300) | — — -
: /2.,_200 S50 Ramm = 8 = ANTIX | & & | AmEmaas
: ' : 3 965103 ¥1,200(¥1,320)
9/16"-18 985006 ¥3,000(¥3,300) - O - 4 965104 ¥1,200(¥1'320)
7/8"14 | 991957 | ¥3,00043300)| — | O | — 6 965106 ¥1,200(¥1,320)
M12x1.5 |991981 |¥2,600(¥2860)| O | — | — 8 965108 ¥1,600(¥1,760)
M14x1.5 |991982 |¥2,600x2860) O | — | — 10 965110 ¥1,800 (¥1,980)
M16x1.5 |991983|¥2,600v2860) O | — | — 12 965112 ¥2,000(¥2,200)
g M18x1.5 991984 ¥2,6000280| O | — | — 16 965116 ¥2,400(¥2,640)
M22x1.5 |991997 |¥2,600(¥2860)| O | — | — W NPT X X
091084 9/16"-18 | 985086 |¥2,600(¥2860)| — | O | — NPTHAX o = S BAmiE)
3/4"-16 | 985008 |¥3,0000x3300)| — | O | — 1/8 966701 ¥1,000(%1,100)
7/8"-14 985081 | ¥3,0003300)| — | O | — 1/4 966702 ¥1,000(¥1,100)
M14x1.5 |991986 |¥2,800(¥3080)| O | — | — 3/8 966703 ¥1,600(¥1,760)
M16x1.5 |991987 |¥2,800x3080)| O | — | — 1/2 966704 ¥1,900(¥2,090)
M18x1.5 |991988 |¥2,800(v3080)| O | — | — 3/4 966706 ¥2,700(¥2,970)
M20x15 | 991989 |¥280005080)| O | — | — | ¥ ERT7HT2—BHEEEENEL TV S ARELERTE->TV\EA,
10|M22x1.5 | 991990 |¥2,80003080| O | — | — | _ ZODYENRELTVBBEIRIETH, JTHTE,
sor088 1/2BSP | 9919FED | ¥430004730) — | — | O >.<+M;<L;U%Ett;ﬁﬁmEt{é‘%b\ﬁuin
3/4"-16 985009 [¥3,00003300| — [ O —| @ANFRX-ARL—hFZR
7/8"-14 | 985010 |¥3,0000x3300) | — | O | — WAZ5247
1"1/16-12 1985011 |¥7,300¢8030| — | O | — ANYAZ| ROYAX | dn T | AR Guamie)
M16x1.5 |991993[¥2,800x3080)] O | — | — 6 | M12x1.25| 9894DBE | ¥2,100(¥2,310)
M18x1.5 |991994 |¥2,800x3080) O | — | — 6 |M12x1.5 | 9894DBF | ¥2,100(¥2310)
M20x1.5 [991995 |¥2,800(¥3080)| O | — | — 6 M14Xx1.5 |9894DBH | ¥2,300(¥2,530)
12|\/|22><1.5 991996 |¥2,800(¥3080)| O | — | — 6 |M16X1.5 | 9894DBJ | ¥2,300(+¥2,530)
7/8"14 | 985013 |¥3,900042%0) | — | O | — 6 |MI8x1.5 |9894DBK| ¥2,500v2750)

@ _6
501994 1"1/16-12 | 985012 | ¥7,300480%0 | — | O | — KTy Y r—f
KXV AR ERTIRE R BAENET .

MRRMIEIS2022E9ARAENENTY . MEMSDZRICLIERDS ENBZEEHPFIETOT, JTHELEL,





